ECE137B Final Exam

6/11/2015, 8-11AM.

There are 4 problems on this exam and you have 3 hours
There are pages 1-21 in the exam: please make sure all are there.

Do not open this exam until told to do so.
Show all work.

Credit will not be given for correct answers. if supporting work is not shown.

Class Crib sheets and 3 pages (front and back— 6 surfaces) of your own notes permitted.

Don’t panic.
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Problem 1, 40 points
Jrequency reponse, negative feedback
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In the circuit above g, = g,,, =20mS. g,, =100mS, R =1kQ , R, =9kQ.
R, =10kQ, R, =infinity Q for all FETs

Cpa=C,, =3181F, C,,, =C,,, =0fF, C , =0 fF, Cops=31.8fF.

Note: simplify the problem by using the approximation shown above right.

Part a, 5 points
feedback relationships

In the relationship 4., = A4, # , what is A4 for this circuit ?
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Part b, 5 points
feedback relationships
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Find the value of the loop transmission at DC and the closed loop gain at DC.

Hint---I recommend using the indicated cut point.
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Part c. 15 points - SO,
transistor circuit frequency reponse.

Find the first two pole frequencies of the loop transmission 7.
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Part d, 10 points
loop bandwidth and stablity.

Plot the loop transmission (labels slopes, label critical frequencies)
Determine the dwidth and phase margin ¥

loop ba
Foog™ 514/2 , phase margin Se
Tpe = &0 G4
Draw the loop transmission’'T on this plot P
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Part e, 5 points v 4 - va
closed-loop bandwidth —

Plot the closed-loop gain vs. frequency,@hc gain peaking at f,,,
@the amplifier's closed loop bandwidth
sed-loop bandwidth =

§ ‘l‘
Draw the closed loop gain on this plot T4t &
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Problem 2, 20 points
Circiut frequency response by MOTC.
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In the circuit above g,,=10mS, g,,=50mS.

£, =1000KY , C_~15.96F, L =05 =" =UIF
R, = infinity Q for both FETs

R =1 kL),
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part a, 5 points
midband analysis

find the gain Vout/Vgen at low frequencies. Vout/Vgen=
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part b, 10 points
frequency reponse analysis

Find @, a,. If the poles are real, find f, and f,,; if they are complex, find f, and £
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part ¢, 5 points
another frequency reponse analysis

Using any correct method, find the transfer function Vout(s)/Vgen(s).
Voul$) _ V.
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The answer must be in standard form

R=1kQ, R,=1kQ, C,=InF, C,=2nF, C,=3nF

Hint: Nodal analysis will be slow and painful.
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Problem 3: 20 points
negative feedback and stability

et
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In the circuit above, 4,, and 4,;are ideal, infinite-gain op-amps.
A, 1s a differential amplifier with a voltage gain of 1.
£ =1k, R,=05kQ , C;=15.9pF, (,=15.9pF.

Part a. 10 points
simple nodal analysis

find the loop transmission 7'(s) .

1+bs+b,s* +...
1+as+a,s*+..

The answer must be in standard form: 7'(s) =1},

1 1+bs+b,s* +...
()Y 1+as+a,s’ +..

or if there are N poles at DC, 7'(s) =

7
—
B S

J v St ) 7, ) 2 9 e
I »}) ( 7S, 7 e > { ¢ 4- e (. 254
T(s)==

14



et ‘7:7/753
/ 7 ‘

TKJ}F - = 7\__,
,d(?jfj_j) T s )

vl fo &rhﬂ%

75" et e G moobly

4

15 b



Part a, 10 points
feeback stability analysis

Plot the loop transmission (labels slopes, label critical frequencies)
Determine the loop banﬂdwidth and phase margin
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Draw the loop transmission T on this plot z°
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Problem 4, 20 points
Jrequency and transient response

part a, 10 points
transient response

A circuit has the response to a 1V step-function input:
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Determine the frequency and damping factor of the dominant poles of the transfer function.

Natural resonant frequency = _ Hz
estimated damping factor =
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spart b, 10 points
lransient response
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You have four unknown circuits (1-4) whose response to a 1V step-function is as above.

For each, you must identify, giving your reasons clearly, which possible circuits (a-e) might give
this observed resonse. (Consider the possibility that some elements in the circuits a-e might
have negligible values)
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